Introduction

This level uses the Nihilist Cipher, a
polyalphabetic substitution cipher that
builds on the Polybius square and a
numerical key. It was historically used for
secure communication due to 1ts layered
encryption approach.

Solution

Convert each letter of the keyword into
numbers using 1ts (Y, X) coordinates from
the Polybius square.
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Subtract the keyword values from the
corresponding encrypted values to retrieve
the original Polybius coordinates.

27 25 56 58 88 XX XX XX
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15 14 32 14 34 XX XX XX

Convert the resulting coordinates back into
letters using the Polybius square.
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